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PART A: Grammar and Vocabulary

-
Directions: Choose the word or phrase (1), (2), (3), or

each sentence. Then mark the answer on your answer sheef.

=mmeciemmeo——- ghe was looking through her papers, she found diary.
4) Although

1) So 2) As 3) Because .

To pass yesterday’s exam, he ——--—————- a lot of time peéparing for it, but he didn’t.
1) has had 2) would have 3) had aving 4) would have had
In the newspaper there are a lot of interesting artielesys------—--- by Harold Magna.
1) written 2) wrote 3 Witin 4) were written

It was a real problem. I didn’t know -- :

1) to go where 2) I went where where to go 4) where did I go
The city needs more money and will h rious problems if it —----------- |

1) is not raised 2) is not raising 3) was not raising 4) was not raised
One of the most remarkable thin? about the human mind is our ability to ------—-—-— the
future.

1) believe 2) dorseds 3) imagine 4) evaluate

Even in the age of nfidg -‘ iénce, superstitions continue to affect people’s ------------ .
1) knowledge ehavior 3) experience 4) prediction

: When they do work or hobbies they enjoy and feel they are good

1) powerﬁ\ 2) rational 3) emotional 4) satisfied

The §€ Were -——-------=--- the first tea drinkers in the world.

1) pro 2) specially 3) entirely 4) primarily

Mos Tes have old sayings that ------------- a lot about the values of that society.
2) measure 3) reveal 4) organize

iy
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PART B: READING COMPREHENSION

Directions: Read the following passages and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on ydi
answer sheet. :

Passage 1: | | 2 Q%

A generation gap is just a difference in values and beliefs between parent \c’hildren.
Sociologists began to use this term in the 1960s. "Generation Gap” is a ‘Lgefu pt because
people in different age groups have different experiences. Communigation cﬁ e difficult
between parernts and children. Some parents feel that their children’s? ighdls of the same
age) have more influence over them than their families. These parents fj at they will "lose"
their children. This feeling of differences between parents and offspr he generation gap.

some matters, like music and fashion, there are differe
their contemporaries. However, on issues such as beli

to believe the same things as their parents. They
question like career goals.

A parent should let their teenagers o adults know about their feelings, Parents
should apologize if sthe makes a mis oung person needs to know that parents are
human beings. The teenage years are s easy for either child or parent. The young person
is learning to become an adult. And ent is learning to give the child freedom to become
an adult. Experts suggest some yays which help to improve communication between the
generations. By using theseways the parents feel closer to their children and can support them
and the teenagers and y [ts feel the loving support from their parents.

Generation gap isa ¢ by sociologists in the --—---------,

m and Dad for help with important

1) sixth decade of Ty 2) second half of 20 century
3) second half of, ur? 4) first half of 20 century
According to t sage, generation gap is -—---—--—- 5

1) the dwﬁ;e r losing their children

2) thlifiererees between children and parents

3) thew ers’ feelings of not be supported by their parents

4) f communication between parents and offspring

g to paragraph 2, —-s--ssemues I

53- T
y's society there is not generation gap
m ung people tend to agree with their contemporaries on all issues

54-

55-

) in today’s society young people agree their parents’ opinions on all subjects
4) young people tend to be like their parents in their beliefs in right and wrong

You can infer from the passage that the teenage years are ~—-—----=--w-- ,

1) critical just for parents 2) easy just for children

3) critical for both children and parents 4) easy for both children and parents
For choosing the appropriate job, a teenager counsels ~——-—--—,

1) his parents 2) his peers © 3) the experts 4) his teachers
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Passage 2:

Advertising informs consumers about new products available on the market. It gives us
information about everything from shampoo and toothpaste to computers and cars. But there is
one serious problem with this. The information is actually very often misinformation. Tt tells u,
the products’ benefits but hides its disadvantage. Advertising not only leads us to buy things
that we don’t need and can’t afford, but also confuses our sense of reality.

Advertisers use many methods to get us to buy their products. One of the maost succcs%

methods is to make us feel dissatisfied with ourselves and our imperfect lives. . cmse
show us who we aren’t and what we don’t have. \
Advertisers get psychologists to study the way consumers think and their ons for
choosing one brand instead of another. These experts tell advertisers abmﬁthe s of fear
and self-image. They also inform them about recent studies about col Wﬁ
Many people think that advertising doesn’t affect them. They feel freedom of
choice. and they like to think they make wise choices. Unfortunately, don’t realize the
powerful effect of advertising. They may not clearly understand that a s spend billions

of dollars each year in aggressive competition for our m ‘n‘_,'“ﬁ. d they are extremely
successful. -

According to the passage, the advertisements ----------yg- 1
1) lead us to buy better things that we need
2) inform us of new and more useful products on the nt
3) hide the disadvantages of the products andj s about their advantages

4) give us complete information about adv d disadvantages of the products
Advertisers try to ——--—--—-mun,

1) show us our imperfect lives

2) encourage us to have the best choice

3) use better methods to remove oug#nhealthy habits

4) gel us Lo feel dissatisfied wigh our life

ers 3) psychologists (ED advertisers v

3 ) don’
4) infa
Which

nd more money cm their products

ot 1eccnt studies on products

ce, according to the passage, is NOT true?
lars is spent each year on advertisements.
ertisements strengthen our sense of reality.

ehdlogists help advertisers to become more successful.

w ple don’t have freedom of choice in the world of advertising.
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PART A: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

mainframe computers. They believed that there was only a market for four main{rame
whole world. That company was IBM. The following year they reversed their de

In 1980 IBM decided that there was a market for 250,000 pes, so they set up a spe team
to develop the first IBM pe it went on sale in 1981 and set a world-wide standa v IBM-

In 1952 a major computing company took a decision to get out of the business of ma mi {

compatibility which over the next ten years was only seriously chalhnored ne other
company, Apple computers.

Since then, over seventy million PCs made by 1BM and other manufac ‘e been sold.
Over this period, PCs have become commodity items. Since IBM
proprietary, anyone can make them.

|
|
|
|
|
|
the design non- j
]
|
|
|

Xerox corporation funded the initial research on pergpnal ters in their palo Alto

laboratory in California. How ever, the company faild to capi this work, and the ideas

that they put together went into the operating system deve r Apple’s computers. .

Answer these questions about the passage. 8
76- How many main frames did IBM think it was possi%seﬂ in early 1950°s. !

)4 2)10 3)360.0 4y 70 million = !
77- How many PCs have been sold? 1

1) less than seventy million 2)exactly seventy million ! |

3) seventy million 4) more than seventy million | |
78- Who paid for the initial research into | |

1) Apple 2yBM /S 3) Xerox 4) Palo Alto |
79- Which company later used fiigyresult of this research to develop their operating systems?

3) Xerox 4) digital research

s¢ the word or phrase (1), (2), (3), or (4) that best completes
Then mark the answer on your answer sheet,

80- In al& sdutce program, the function -—--—--—--- must appear only once in program. 1
2) main 3) variable 4) comment

81@ culate average®/ is a ~—==mmm=m=nn line

) comment 2) declaration 3) function 4) syntax l

82- The means of communication between a human and a ecomputer (software based) |
1) area network 2) monitor system 3) keyboard Dovice  4) user interface :



PARTC: Vocabulary

Directions: Match the words and definition listed below

83- To detect
1) to set a process in motion
2) a protective device in the system %
3) to remove all traces of something in the memory * Q)
4) to discover or recognize that something is present \
84- An infector
1) something which transmits a disease or virus -
2) stolen, obtained without the owners’ consent 5 3
3) to load the operating system into memory
4) a device used to set off an explosion or other destructive procg

85- Field:
1) the collection of data transferred as a unit
2) the collection of data relating to one subject
3) the way that the data is physically held in memo

AP

4) an item of data such as a number, a name, 0 dress
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Sl plaS o2rg,3 094 AZMON | (59,3 3 5

‘Z{Oid main() hello azmon ()
“char name[10]; azmon azmon (¥
cin>>name;
streat(name, "azmon"); ‘ azmon hello

cout << name;

} )

i g ‘.‘G\..uho!d: lf-i)’ n}gﬁ 13 9939 Jl)f!
void main() - o
(
{int a3 - 3
e Ve (Y
cin >> a;
if(a%2=0) odd ¥

cout << "odd";

else cout<<"even'’; even (f
}
o Tl pla g ydug) dalip o9 )5
void main()
{ 0
int num = 0;
while (num++ <= 10); ERROR (¥
{ 8642 (¥
if (num % 2 !=0)
continue; 246810 ¢f
cout << num; /
H
¥
il oIS 29,5 090 1 42 13 1415 10 ) 0958 51 ST
void main() 1553 ¢
{ 15113 (¥
int ?ﬁ' Kitgtal = 0,count = 0;
her !=0) 151115 ¢Y

; i gllas (F
number; A (

er == () count+t;
e total += number;

35 cout << total;

(WY

cout << count:
cout << total / count ;

}
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void main()
{ 0¢)
int pum = 3, denom = 4; 1ev
float value;
value = num / denom; 0. v
cout << value;
: . ERRO
el al &D
’%ﬂ alael ()
void main()
{ - o 251,508 (Y
fsnum {mon, tues, wed, thurs, fri}; * mwe dthursfri ¢
int day;
for (day = mon; day <= fri; day++) ERROR (¥
cout << (char)day;
} - 2

A:A

PN S 23,5 o9 19 121 (395951 57
% 000 ()

1:{01:1 main() 010 ¢y

int first, second; 101 ¢¢
cin >> first >> second;

cout << (first > second); 111«¥
cout << (first < second);

cout << (first == second);

sl plaS cgydzg) dalip (o295
010206553525 ()
010206365255 (Y
010206365280 (¥

t << (255 >> 2);

out << ~(unsigned int)255 ; 102060365280 (¥
P
(==
3 Sl plaS igjaa9) Sl o229y
void main()

{ . 2315 ()
cout<< 1.0 +2.0%3.0/ 4.0; 23.515 (Y

ecout<< 1.0 /2.0 + 3.0;
cout<< (1.0 + 2.0) / 3.0; 253.515«%

}coutr« (in9)(1.0 +2.0/3.0) + 4.0; . 2.53.516.(F
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class String { L2y
char *char_ptr;

-

int length; 1.4 (T'
public: ‘ 2.3

String(char *text); n i

String(int size =80); /12 33%

String(String& Other_String); //3 ¥ |

~String() {delete char_ptrs}; /4 \?
int Get_len (void);
String operatort (String& Arg); %
void Show (void); -
D))

13
S oo Null pointer assignment glas slis cows s wle 31 g das- plas
5¢)
String::String (char *text) 6 (Y
length = strlen(text); T
char_ptr = new char[length + 1]; //5
strepyv(char_ptr,text); I 8 (f

String::String (int size) -

{
length = size;
char_ptr=new char[length+1];
*char ptr="\0"; 8

B

-

90

Stri ::Stri%‘ing& Other_String)

{ \ = 10 (¥
= Other_String.length;

tr = new char [length + 1]; 11 ¢¢

B¥ (char_ptr, Other String.char_ptr); 12 f

3 é‘%%g String::operator (String& Arg) /9
{
String Temp( length + Arg.length ); /10
strepy(Temp.char_ptr, char_ptr); /11
streat(Temp.char_ptr, Arg.char_ptr); //12
return Temp;

}
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int String::Get_len(void) azmon ()}

{ amordad (¥
return (length);

H kardani to karshenasj

void String::Show(void) azmon in amordad

{

cout << char_ptr << "\n"; * %
1 \?)
void main ()
{ -

String AString ("azmon in amordad'"); ‘* 3
AString.Show();

String BString("-kardani to karshenasi");

String CString; /13

CString = AString + BString; //14
BString.show(); 115
CString.Show(); /16
h
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14 (¥
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